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1. By intoducing a small term qu(z) into

d2
;;(2:6):5(35—5), —00 < < 00 (1)
we can obtain P
C;;(f)—qu(x):(S(x—s), —00 < T < 00 (2)

We have solved the fundamental solution for Eq.(1) by the limiting process of the
results in Eq.(2) in the course.

2. In the same way, by intoducing a small term pu(z) into

d*u(r)

dz?

=0(r—s), —00o <1 <00 (3)
we have
d*u(r)
dxt
Solve the fundamental solution for Eq.(3) by the limiting process of the results in
Eq.(4).

+pu(z) =d(xr —s), —00 <z < 00 (4)

3. Summary: methods for solving fundamental solution
(1). subsection method
(2). transform methods by introducing a small term(single pole of residue)
(3). transform methods directly(higher pole of rsidue)
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